=LPDB
3UDFRZQLN SRINGDG  GU *LUHN 7RPDV] 7\J

7N 7N 7N
&KHPID RIJDQIFIQD ,, GU *WHN 7RPDV] $ & &KHPID RIJDQIFIQD ,, GU *WHN 7RPDV] $ & =DDZDQVRZDQD UHFHSIXUD SUHSDUDIYZ
> /7 /7 NRVPHINFIQ\FK GU *LHN 7RPDV] =DIC
= FDRQUQH .O =
= 7N
= GHQURUND | GURGNL JDSDFKRZH GU
Q *|UHN 7RPDV] 7\J 6l
= = RINQD -DQXV] 7\J =DICFID
g RQUH .O =
7}
7\G]
&KHPID RIJDQIFIQD ,, G *UWHN
7RPDV] $ &/ 7/
7N 7N
&KHPID VIRVRZDQD | &KHPID VIRVRZDQD | ™
1DU]1aG]DQH 1DU]1aG]DQH
FKHPINDIDPL GU *LUHN FKHPINDIDPL GU *LUHN &KHPID
7RPDV] =DICFLD RQ IQH 7RPDV] =DICFID RQ (IQH VIRVRZDQD
% &/ = &/ = L
=] 1bUJaG]DQL
% H
N FKHPINDID
PL Gl
H|UHN
7RPDV] =
DICFID RQ
IQH &
/ It
o
D
—_
o
7\G] 7\G]
&KHPID RIJDQIF]QD ,, GU &KHPID VIRVRZDQD |
*|HN 7RPDV] $ 1DU]aG]DQH
z &/ / FKHPINDIDPL GU *LWHN
= 7RPDV] $ &/
(@) -
O -
7]
7\G]
&KHPID RIJDQIF]QD ,, GU *WHN 7RPDV] $ &
/7
7\G] 7\G] 7\G]
= \IZDUJDQIH NRVPHNNyZ GU *UHN = \IZDU]DQIH NRVPHINNyZ GU *LHN 7RPDV] $ = \IZDU]DQIH NRVPHINNyZ GU *LHN 7RPDV] $
7RPDV] $% .5 & .5 zDl .5 &
o
= 7\G]
[} = \IZDUJDQH NRVPHINNyZ GU *WUHN 7RPDV] =DICFID
g RQUQH .5 &
7\G]
= \IZDUJDQIH NRVPHANYZ  GU *1UHN
7RPDV] $ .5 Dl




=LPDB
3UDFRZQLN SRINGDG  GU *LUHN 7RPDV] 7\J

7\6]

= \IZDUIDQIH NRVPHNNyZ GU *WHN 7RPDV] $
-5 &

VRERWD

7\6]

= \IIZDUJDQIH NRVPHINNYZ GU *WUHN 7RPDV] $
-5 =0l

7\6]

= \IZDU]DQIH NRVPHINNYyZ GU *WUHN 7RPDV] $
.5 -DU

QLHG]LHOD

7N\

= \IZDUJDQIH NRVPHANYZ  GU *lHN 7RPDV] $
.5 Dl

7\6]

= \IZDU]IDQIH NRVPHNNyZ GU *WHN 7RPDV] $
-5 &

7\6]

= \IIZDUJDQIH NRVPHINNYZ GU *WUHN 7RPDV] $
-5 &

7\6]
= \IZDU]DQIH NRVPHINNYZ GU *WUHN 7RPDV] $%
&




